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Algebra: Equations With Rational Numbers

Solve each equation.

d—7="11 3f=6 t+ 4=2
Step 1: Remember The inverse of The inverse of The inverse of
the inverse operation. subtraction is multiplication is division is
addition. division. multiplication.
Step 2: Use the d—7+7="11+7 | 3r+3-6+2 £
inverse operation _—2 X 4=2X"74
on both sides of the
equal sign.
Step 3: Simplify the %= _% X ‘% =t
equation. % 2X 74="78
d+0="74 4 t= 8
=4 3
1f=18
f=8
Solve each equation.
1. w+ 87 =102 2. 7t=21 3. s— 5=
4. x -2 =40 5. t+ 13 =43 6. 4k= "96
7. b— 62 =175 8. 2f=10 9. 156 + g =96
. - 3 2
10. b+ 10 = 47 11. 41w =123 12. q—5§=6§
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Equations With Rational Numbers

Use the table to solve.

Bright Water Trail
Landmark Distance (mi) Elevation (ft)
Walker Tunnel 0.18 6,708
Lazy Switchback 1.45 6,560
3-Mile Point 3 5,490
Nature’s Gardens 4.6 3,800
Lookout Point 6.1 3,770

1. Rosa hiked from the beginning of the trail Show Your Work

to Walker Tunnel. At that point she had
descended 77 feet. What is the elevation
at the beginning of the trail?

2. Rosa continued hiking. She took a break
at Lazy Switchback. How many feet in all
had she descended by then?

3. At 3-Mile Point, Rosa realized she had left
her watch at Lazy Switchback. She hiked
back to get it. How much altitude did she
gain on that return hike?

4. After retrieving her watch, Rosa hiked on
to Nature’s Gardens. How far did she
descend?

5. Use the table to write your own problem
that involves rational numbers. Then
explain how to solve it.
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